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Class: 9 Math (Chapter: 3.1, 3.2)

ALGEBRAIC EXPRESSIONS

LECTURE M-06
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EXERCISE 3.1....

15) Ifa +a’b?+b*=8anda +ab + b2 4, what is the value of a) a’+b? b) ab?
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Ifa+b=vI6and ab =1, whatis the value ofa — b ?
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FORMULAE OF CUBES :-

ATy
Formula 6: (a+b)3= (ad+ 3a?h + 3ab? +@— a® + b + 3ab(a + b)
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% Corollary 9: a3+b3 = (a+b)*-3ab(a+b)
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/1/2> Formula 7: (a — b) :Q— 3a2h + 3ab2@— a® — b — 3ab(a — b)
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7 LY v Y _ 2 1% B Cb,t.
(0-6)= & —3ab b)) g &L= (0-b) + Seb{at)




FORMULAE OF CUBES:-
= Formula§: a3+b3 = (aC)b)(aZ ~ab + b*) —
Crl— V_ = (o a . ab [ =(R A F—
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4> Formula 9 : a3—b3 = (a@ b)(a* 3 ab + b?)
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Poll Question: 02

Which one 1s not correct?  » _ 1D F—7
(a) a>—b3 = (a—b)®> + 3ab(a—b) (b) a>—b3 = (a—b)(a? + ab + b?)
W a’+b3 = (a+ b)(a%? + abAb?) (d) a’+b® = (a+b)’—3ab(a +b)
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ACTIVITY : [Page no-51]
Find the cube with the help of the formulae :
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ACTIVITY : [Page no-33]
1) If x = —2, what is the value of 27x3 — 54x* + 36x — 8?



2)Ifa+ b =5 andab = 6, what is the value ofa® + b3 + 4(a — b)??



3) If x = /5 + /3, what is the value of x3 + Xls?
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EXERCISE 3.2....
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4) If a®> — b3 = 513 and a — b = 3, what is the value of ab?
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6) If a = 15, then what is the value of 8as + 60a2+150a+@77
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EXERCISE 3.2....

——
7)Ifa+b=rmi,a%+b?=nand a3+b3 = p3, thenshow that m3 + 2p3 = 3mn?
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EXERCISE 3.2....

13) Ifa+ b + ¢ = 0, than should that a) a + b3 + ¢3 = 3abc
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16) If a= /6 + /5, what is the value of 1
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